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1. Implement Class & Method Definitions

Type Class Type Method
Name input_menu
Name System_Contro
Purpose AMEXAEREH TSI AXSHE ATM 2| 7|&5S | RO}
- + i EZEEQ MES= HAL
Suies AFE RHUser 22 Managen 25 E| HO|E{S 2l2iurop HzHe} inputMenu 01 2|20 XZohs o
0 AKX HOlEe XME|7t SESH= Bank, Account S CHst
So|Ae HIO|HE Fae= & Overview N/A
Cross withdraw, deposit,remittance, view_account_detail,
Reference manage_ATM
Overview N/A
Input void
Cross jackPot, withdraw, deposit,remittance, view_account_detail, i
Reference manage_ATM QiR vol
Abstract AHEX7F 3Bt 7|52 inputMenu O EZ| R EO| XZotCt
Operation
Exceptional N/A
Course of )
Event Exceptional N/A

Course of
Event
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1. Implement Class & Method Definitions

Type
Name

Purpose

Overview

Cross
Reference

Input
Output

Abstract
Operation

Exceptional
Course of
Event

Method
input_ID

ALEXIZEEH IDE 2220t inputlD HEZ|REN &SI
L E=

N/A

withdraw, deposit,remittance, view_account_detail

void

void

N/A

Type
Name

Purpose

Overview

Cross
Reference

Input
Output

Abstract
Operation

Exceptional
Course of
Event

Method
input_amount

ANEXEEH ZHZ 2=2HEH0} inputAmount HEE| R E0
MNESHE HAE

N/A

withdraw, deposit, remittance

void
void

AEAZRE YH@Y2 S inputAmount Off A otct.

N/A
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1. Implement Class & Method Definitions

Type
Name

Purpose

Overview

Cross
Reference

Input

Output

Abstract
Operation

Exceptional
Course of
Event

Method
input_PW

AFEAZRE HZEHS S YHLOL inputbW HEE|FEO]
Hgots Mt

N/A

withdraw, deposit,remittance, view_account_detail

void
void

AR R E UL 2 4S inputPWo| X Z ot

N/A

Type

Name

Purpose

Overview

Cross
Reference

Input

Output

Abstract
Operation

Exceptional
Course of
Event

Method
updateBalance
ALEXES AHefof hHE AZte| THUE BN AF = HaE

N/A

withdraw, deposit,remittance

void

void

AFEXLO| AH2Hof| 2t Account.BalanceS HSIA|FASCY

N/A
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1. Implement Class & Method Definitions

Type
Name

Purpose

Overview

Cross
Reference

Input

Output

Abstract
Operation

Exceptional
Course of
Event

Method

checkBalance

AFBAZ R E YHBY2 5HO|
=

ADECF MeX| HAst= o

N/A

withdraw,remittance

inputMoney: int
int

inputMoney”t A x| TrH 2t 2 X| H| ottt

N/A

Type
Name

Purpose

Overview

Cross
Reference

Input

Output

Abstract
Operation

Exceptional
Course of
Event

Method
Card.checkPW

AEXIZEEH YHE2 password?t Card2| password2t K|
St=X| 2Ql%t= method

N/A

withdraw,remittance, view_account_detail

inputPW: int
int

inputPWet Card0fl K& El password?t Z-2X| H| oLt

N/A
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2. Implement Windows

‘ MainGUI ‘

System_Control ‘ MoneyCount

Lifelinel: Actorl

2 : input_menu(int)

toog (L7 J

8

G :input_ID(inputing)

7 - searchiD(inputi Dint)

1) Withdraw

opt islD J

[isiD=false] |1 - searchCardID(inputiD-inf)

PR S
13 : checkedID

15 - Saved_checkedID

Tl t it .
Rt Aam 18 : input_amount{Amaylist<integer=)

19: Saved input_PW
J - opt isAccount J

i FliinsenPW 22 : input_PW(inputint) _ ) t lisA¢count=true]
§ = . 23 : checkPW({inputPW:int)

L 24 : checkPW(inputPWint

htemsanmmmannmiaaisannniann
H 25 : checkedPW H
opt isCard_J 26 : searchCard(inputPwang & g o o v

[isAccount=false]

4 - checkedDW

28 : checkedPW

30 : checkedPW

3l | updpteBalance() :
32 : balanceCount(inputMongy:int)

g3 : balanceAccount{inputhandy:int)

Eﬁ ce(inputMoney-int)

34 : che

Pl v 35 : checkedBalance

opt isUpdate J

[isUpdate=true]

loop (4) J 37 atmghl hncelUpdate(inputMoney:int inputcountint ingutPOMing

hgoloaic PSP . pap e A o
3 hecked_ATMBalance

.,
smremsrr=sseesmmsre=cs 30 Updated ATMEBalance
0 : display_balance_resplt
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2. Implement Windows

Name Push_withdraw_button Name Insert_amount

Responsibilities MainGUI2| withdraw HHE& F+&Ct Responsibilities MainGUIO| == &=t}

Type MainGUI Type MainGUI

Cross Reference R1.2 Cross Reference R1.2

Notes MainGUIS| withdraw HHEZ +2LCt Notes MainGUIO| =3 &St}
Pre-Conditions N/A Pre-Conditions ID7} 2RI &[0 RAO{OF SrC}
Post-Conditions =3 &2 3HO| =St Post-Conditions H2H 4 =2 2tH =

Name Insert_ID Name Insert PW

Responsibilities MainGUIO| IDE & 3 3tCt Responsibilities MainGUIO| H|ZH S S T}
Type MainGUI Type MainGUI

Cross Reference R1.2 Cross Reference R1.2

Notes MainGUIO| IDE & ={$HCt Notes MainGUIO| H|2HS E T}

2 n
L2
°
rot
n

input_menu0i| withdraw#t0|  Pre-Conditions = H0| AHE|
=0 Q0| OF BtC}

Post-Conditions o A &S FHO| SHTHC}

Pre-Conditions

Post-Conditions Hell Y= ==t
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2. Implement Windows

interaction deposit J

‘ MoneyCount

Lifelinel: Actorl ! ! ] 3 :
! 1:Push deposit_button 2:input_menudint) |
4 : display_deposit_menu i3 Saved deposit_ menu i

e E R - 3 ; i :

2) Deposit

5} Insert &) | i 7 search\D(inpulID';nt) Ioutju :
T 6 inputID(nputing “ > 8 : checkiD(inputlD:int)
: : : 9: checkedID :
: : : | e e e e :
i [opri= J loop (L7 J i
' lislD=talse] | 10 searchCardiD(inputiD:int| | |11 checkCardiD(nputiDiny) |
a | i 4
i IR R T R :
: i 14" checkedi} T T ; ;
p (SRt St R O - Y S ot 3 ] ] i H
:<16 - display_input_Money . : : ' :
17 Insert_amount | ;
: T 18 - input_amount{Arraylist<integer=)
pdateBalance()
20: balanceCount(inputMoney:inl} mE i
1 ha\anceﬁ\ocount(inputMoneLir:i}
5 | e L L L <55 theckedaance ] 5
; : 23 : checkedBalarice ' 7 : :
| opt isUpdate : ' : :
:  lIsUpdate=true] i ' :
! §foop i ), ] Lol e . 3 : :
H ; 24 - ATMBalan eUpdate[lnpulMDney.lnt:lnputcoum.lnt:nputPOM.mt) ' H H
| ; L L] ‘ : ;
H R 25 Checked_ATMBalance H H
- j H 1 | ; |
1 27 : display_balance_result : ' ' : :
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2. Implement Windows

Name
Responsibilities
Type

Cross Reference
Notes
Pre-Conditions

Post-Conditions

Name
Responsibilities
Type

Cross Reference
Notes
Pre-Conditions

Post-Conditions

Push_deposit_button
MainGUI2| deposit HE S
MainGUI

R.2

MainGUI2| deposit HE S

N/A
ge &= =t 9ot

Insert_amount

MainGUIO|| S YUHBIC

MainGUI
R.2

Name

SELt Responsibilities

Type

Cross Reference

SZLC} Notes

Pre-Conditions

Post-Conditions

Insert_ID

MainGUIO| IDE & 3oL}
MainGUI

R.2

MainGUIO| IDE & =H3tCt

input_menu0i| depositzf0] =0 U0{0}
orC}

o 2

mjo

StEHo| =5

o

Ct
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3. Write Unit Test Code

« = GUL Interface
=\ JRE System Library [JavaSE-9]
w B src

~ 8 DataBase
1] Bankjava
[] BankTest.java
] Manager.java
1] ManagerTest.java

~ 48 System
I MoneyCount.java
1] System_Control.java
[4] System_ControlTestjava
] Timer.java

~ 8 User
1] Account.java
[1] AccountTestjava
] Card.java

~ B View
[7] Main_controller.java
] MainFrame.java

% 1 backage DataBase;

2

J® import static org.junit.Assert.*;[]

—

o]

7 public class BankTest {

8
9_
10
11
12
13
14
15
16€
17
18
19
20
21
22 }
23

@Test //0HOIC| HOIZ &

public void searchIDtest1() {
J/fail("Not yet implemented");
Bank test = new Bank(1);
assertEquals(l,test.searchID(325,1));

¥

@Test //oro|Ci 22X E

public void searchIDtest2() {
Bank test = new Bank(1);
assertEquals(0,test.searchID(324, 1));
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3. Write Unit Test Code

1 package DataBase;

2

J#import static org.junit.Assert.*:[]

-

o

7 public class ManagerTest {

8

9_
10
11
12
13
14
15¢€
16
17
18
19
20

@Test
public void input MID TrueTest() {
Manager test = new Manager(123,235);

boolean output = test.checkID(123);
assertEquals(true,output);

}

@Test

public void input MID FalseTest() ﬂ
Manager test = new Manager(123,235);
boolean output = test.checkID(11111);
assertEquals(false,output);

!

22
23
24
25
26
27
28
29

30

31

32

33
34 }

@Test

public void input MPW TrueTest() {
Manager test = new Manager(123,235);
boolean output = test.checkPW(235);
assertEqual s (true,output);

¥

@Tesﬂ

public void input MPW FalseTest() {
Manager test = new Manager(123,235);
boolean output = test.checkPW(111111);
assertEquals(false,output);

h
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3. Write Unit Test Code

1 package System;

2

3® import static org.junit.Assert.®;[]
6

7 public class System ControlTest {
8

9= @Test

10 public void input_ID TrueTest() {//A=20

11 System Control test = new System CDntPD {
12 boolean output = test.input ID(325);

13 assertEquals(true,output);

14 }

15€ @Test|

16 public void input ID FalseTest() {

17 System Control test = new System Control();
18 boolean output = test.input ID(111111);
19 assertEquals(false,output);

20
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3. Write Unit Test Code

@Test

public void input RID TrueTest() {
System_Control test = new System Control();
boolean output = test.input RID(325);
assertEqual s(true,output);

¥
@Test

public void input RID FalseTest() {
System Control test = new System Control();
boolean output = test.input RID(11111);
assertEquals(false,output);

h
@Test

public void input MID TrueTest() {
System Control test = new System Control();
boolean output = test.input MID(123);
assertEqual s(true,output);

}
@Test

public void input MID FalseTest() {
System Control test = new System Control();
boolean output = test.input MID(11111);
assertEquals(false,output);

¥

@Test]|

public void input MPW_TrueTest() {
System Control test = new System Control();
boolean output = test.input MPW(235);
assertEquals(true,output);

¥

@Test

public void input MPW _FalseTest() {
System Control test = new System Control();
boolean output = test.input MPW(111111);
assertEquals(false,output);
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3. Write Unit Test Code

package User;
#import static org.junit.Assert.®;[]
public class AccountTest {

B @Test
public wvoid checkID True test() {
Account test = new Account(123,456," 43" ,10000,1);
int output = test.checkID(123);
assertEquals(1,output);

¥

B @Test
public wvoid checkID False test() {
Account test = new Account(123,456,"+3",10000,1);
int output = test.checkID(11111);

assertEquals(@,output);

}
I

B @Test
public void checkPW True test() {
Account test = new Account(123,456," 43" ,10000,1);
int output = test.checkPW(456);
assertEquals(1,output);
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3. Write Unit Test Code

@Test

public void checkPW False test() {
Account test = new Account(123,456,"45",10000,1);
int output = test.checkPW(11111);
assertEquals(@,output);

¥

@Teaﬂ

public void CheckBalance True test() {
Account test = new Account(123,456,"+=",10000,1);
int output = test.checkBalance(5000);
assertEqual s(5000,output);

¥

@Test

public void CheckBalance False test() {
Account test = new Account(123,456,"45",10000,1);
int output = test.checkBalance(50000);
assertEquals(-1,output);
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4. Unit Testing

[# Package Explorer g JUnit 2 = O
Lo e®dBE @R EEY

‘inished after 0.02 seconds

Runs: 4/4 B Errors. 0 B Failures: 0

[# Package Explorer gu JUnit = B

T e @R ®EE~Y <
Finished after 0.049 seconds

v ] DataBase.ManagerTest [Runner: JUnit 4] (0.000 5)
gel input_MID_FalseTest (0.000 s)
g&] input_MID_TrueTest (0.000 s)
ge] input_MPW_FalseTest (0.000 s)
gel input_MPW_TrueTest (0.000 s)

Runs: 6/6 B Errors: 0O B Failures: 0

+ i User.AccountTest [Runner: JUnit 4] (0.000 s)
gel checklD_False_test (0.000 s)
gl checkPW_False_test (0.000 s)
gl checkPW _True_test (0.000 s)
tel CheckBalance True_test (0.000 s)
tel CheckBalance False test (0.000 <)
gl checklD_True_test (0.000 s)
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4. Unit Testing

[¥ Package Explorer dvJUnit i = B

T 4 e®dpl| QR ®EH~ <
Finished after 0.554 seconds

[# Package Explorer guJUnit &2 = B

T oe®dBE QR ®EEHY <
Finished after 0.037 seconds

Runs. 8/8 B Errors. 1 B Failures: 0

Runs: 2/2 B Errors. 0 B Failures: 0

v il System.System_ControlTest [Runner: JUnit 4] (0.293
gel input_RID_FalseTest (0.101 s)
gel input_MID_FalseTest (0.010 s)
input_MID_TrueTest (0.008 s)
eel input_MPW_FalseTest (0.010 )
gel input_RID_TrueTest (0.013 s)
input_MPW_TrueTest (0.010 s)
gl input_ID_TrueTest (0.131 s)
input_ID_FalseTest (0.010 s)

v Hi DataBase.BankTest [Runner: JUnit 4] (0.000 s)
el searchiDtest1 (0.000 s)
el searchlDtest2 (0.000 s)
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5. System Testing

Test Test &= Description
Number
1-1 input_menu AFEARZE QiEeh S i StEHe
Test 25t=X| 2felptTt
2-1 input_ID AHEXIZE el3st ARt 22 FtEHS
EoM QRMAIXE EEI=X

2-2 input_ID

3-1 input_PW

32 input_PW AFEX7F Yot 2D I A
7

4-1 input_amount &
C

A% rot

Ot
rir

=
AXIE
o

4-2 input_amount  =32| &
m]

AW rot

Ot
rir

=
AXIE
(]

1L S ' S

4-3 input_amount 529
E AKX E

CroJm e
o

4-4 input_amount A}

>
10

o

1

- Of
12
o
X
fud]

op

oy
o
i)

LU
_|

<

J

Ral

ro

ot

o
=

oy
i=]

J.H,Jlé

J

al

rir

[

HT

Sl
> A

oo
3
=
u
ot
<2
rr

Use Case

R1.2 R2, R3, R4, R5

R1.2, R2R3,R4

R1.2, R2R3,R4

R1.2, R3, R4

R1.2, R3, R4

R1.2

R1.2

R.3

R1.2, R2, R3

Pass / Fail

Pass

Pass

Pass

Pass

Pass

Pass

Pass

Pass

Pass






